離散數學第三次家庭作業

助教：張筑鈞、陳映文

範圍：§1.6~§2.2
Due：3/24 7:00 am

以下包含單選題及證明題：
§1-6

1. We use a direct proof to show that the sum of two odd integers is even. Which one is false.
a) First, we must show that whenever we have two odd integers, their sum is even.
b) Suppose that a and b are two odd integers. Then there exist integers s and t such that a=2s+1,
c) b=3t+1.
d) Show a+b is odd.

2. 【證明】Prove that if n is a positive integer, then n is odd if and only if 5n+6 is odd.

§1-7

3. Please reference Example 23, p101 of textbook. Verify the 3x+1 conjecture for the integer 7. Which one is true?
a) 7→22→67→202→607→1822→5467→16402→49207→147622…
b) 7→22→11→34→17→52→26→13→40→20→10→5→16→8→4→2→1
c) 7→22→67→202→101→51→25→12→6→3→1
d) 7→3→1

4. 【證明】Suppose that if a and b are odd integers and a≠b. Show there is a unique integer c such that |a-c|=|b-c|.

§2-1

5. Determine whether each of these pairs of sets are equal.
a) {1,3,3,3,5,5,5,5}, {5,3,1}
b) { {1} },{ 1, {1} }
c) Ø, {Ø}

6. Find the power set of each of the set { Ø, {Ø} }, where a and b are distinct elements.
a) { Ø }
b) { Ø, {Ø} }
c) { Ø, {Ø} , {Ø,{Ø}} }
d) { Ø, {Ø} , {{Ø}} , {Ø,{Ø}}}
§2-2

7.
Let A={1,2,3,4,5} and B={0,3,6}. Find the following sets.

a) A(B={0,1,2,3,4,5,6}

b) A(B={3}

c) A-B={0,1,2,4,5,6}

d) B-A={0,6}

which one is incorrect?

8. The successor of the set A is the set A({A} . Find the successor of the set 

{ Ø, {Ø} }.

a) { Ø }
b) { Ø, {Ø} }
c) { Ø, {Ø} , {Ø,{Ø}} }
d) { Ø, {Ø} , {{Ø}} , {Ø,{Ø}}}
